BAOAT  BEFEAEDEA PbSEHRERBOSE nY=sk

B

3. XH&EJJEJ@%%
= IR B k4
4. FHEIE
FEULE
5. FOfILE
Z RS
HEUL 2%
f*%um.ﬁ

S
EERE
IRMAA 1T 2
fEF R A
NG
(2) Ffhirsy
bii% GBliE
TeRAMAE 2
SRR
TR 2
ElilE=
WEE
T R 2
Z O E
FEAG
2. B
(1) Af#
B B
FEFRY
EEREAIE
IRAA AT 2
fEF R A
NG
(2) Ffhsy
bl G BTIEE =
Tk AT AE 2
SRR
THFESL 2
ElilE=
EEHE
ay s F A
FERHERATEY
Z O EE
EEE
R
U R AR
I RIS
1 B PETE AR
& IS A
%ﬁ%%ﬂ%
. AR AR
I %%ﬁﬁﬂ
%R%lﬁﬁ‘é,ﬂ;ﬁﬂz%ﬁﬁét%ﬁﬁé
BB ERBL L O FER
W E R R P R
BT I R U PR A
VR SRR I LR PR A

2

£ =

ERE29FE4 A 1 H G303 A 31 HET

60,000
6,000

5,000

oSO

)

66,000

5,000

OO O© O O

2,530

2,398
950
22,605
3,000

31,483

(=] [=X=leRele)

31,483

8,867

(CXhE)

71,000

40,350

30,650

0

30,650
0
30,650
139,471

170,121




